thHe& A = 24 - 4ab, B = a®b - 2a °] T

ol
w
)
]
uf-

o
RS

© B9 A4t g9t ah-2 2 B5E 2 o]},
© A 5B o FE A5k a? ok,

® © ® 0.0

©a
@ ©

® 6.0,

©



2. (x+y)(x+y+2) -3 AR 5FH?

O (x+y+1)(x+y-3) @ (x+y-1(x+y-3)
® (x+y-1(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-Dx+y-2)



3. ax®+24x+b= (3x+c)? W, AT a, b, ¢ O 2 A= F5HH?

@ a=9,b=16, c=—4 @ a=9,b=8, c=4
®a=9,b=16, c=2 @ a=9,b=16,c=4

® a=3,b=-8, c=4



4.  the deEs oA o8 FAS B 2W? (Hha>0,6>0)

Ayl dy -1 = - (D2 -+ 1) =2 - (y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@ a®-2ab + b* = (a-b)*
® a?>-b?>=(a+b)(a-Db)
@ x*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)



5. 0<x<79d, Va2-16x+ 64— Va2 + 10x + 25 = 7tHs]| 5HH?

O -2x+3 @ 2x+1 ® -2x-5

@ 3x-1 B —-3x+1



® x24+x-12

@ x2+8x+16

@ x2-16

® x2-8x+16

@ 2x2 +9x+4



7. ok oA [] el ol F o] A2 Fotolet.

Bx+4)( Jx-5)=6x2-] Jx-20

S ER
=%



8.  (x+1)?2-5(x+1)+6 S J5EdfotH?

D (x-1)(x-2) @ (x+1)(x+2)
@ (x-1)(x+2) @ (x+1)(x-2)
® —(x—1)(x+2)



9. x%—dxy+4y?+2x—4y-15 & AFE|oIH?

@ (x=2y+3)(x—2y-5) @ (x+2y+3)(x+2y-5)
® (x-2y-3)(x+2y+5) @ (x+2y+3)(x+2y+5)

® (x=2y-3)(x-2y+5)



10. o2 oA a? — b? — % + 2a + 2bc + 1 2 QI5-H351H?

@ (a+b-c-1)(a-b-c+1)
@ (a-b+c+1l)(a-b-c+1)
® (a+b+c+1)(a=b-c+1)
@ (a+b-c+1)(a-b+c+1)

® (a+b-c-1)(a-b+c-1)



2 .2
: g T e grey
Y

11, x— 1 = = ,
T o2 T VBre X

D -8+3 @ -4v3 ® 23
@ 1+2+3 ® 63



12.

g oA Al EA 08 el oIt A BC.DF
Vg2 5o A A2 0] 28 Fateleh(d, D> 0)
[w)]
E=di
)
@ X tgrtA={5x+B

© 9y? + Cy + 25 = (Dy - 5)?

YR
=¥




13. Zo|7}52¢m ¢l

2 72 A9 A= e @ W) ol7t 2t aem
et bem Q1 AAYY T 7HE TEQAT o] o, & AR 9] Hlo] 9]
ol 109em? A o, Wolel A& HotH? (H,a>b>0)

@ 7cm?

@ 49 cm?2



g, a+b=3¢% A

@ 2B3x+2) + (2x—1) (3x +2)
O 2x(2x+1) = 3(1 + 2x)

© (x+2)(x-1)-2(x+2)

@ x> -4x+4

@ 2x2+7x+6




15. dsF w24 A2

ftlo

HE

flo
il

@ ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)(2+a)

@ -y +2x+2y=(x-y)(x-y+2)
@ 3P+ +x+1=+1D)(x+1)

® x(y-1)-2(y-1)= (x-2)(y-1)



16. ©FFA] 4xt —5x2 + 18 Y] 7e] dapAle] Fo
Aol 4419 72 o

® 2x+1 @ 2x-1

@ 6x4+1 B 4x-2

® 6x



17. %5 a, b, col et A=a+b+ab, B=b+c+bc,C=c+a+ca
0|11, A+B+C=33,A-B+C=-1,A+B-C=11¥9 Y, a+b+c
o] ghe Faelat

aﬂ‘:a+b+c:



18. T3] x(x+ 3)(x + 4)(x— 1) + p 7 AHAAFA 0] HEZ o= p o
e Ftolat,

O ESE



19. 0<x<1, -2<y<-19¢9 o, o3 A& 2s] hA?

V)24 V(x+y)?2—dxy - /(x—y)? +dxy

®© -xy @ 2x—xy ® 2x+ xy

@ 2y — xy ® x—=xy



20. a+b=2,ab=-8 AW, a3b+ a?b + ab? + ab® | L F5toie},

>R
=%



